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LIFE SCIENCE 

LSE-07 : TAXONOMY AND EVOLUTION 

Time : 2 hours 	 Maximum Marks : 50 

Note : Question no. 1 is compulsory. Attempt any four 
questions from question nos. 2 to 6. 

1. (a) Fill in the blanks : 	 1 x 5=5 

(i) Eukaryotic organisms with cell wall 
made of chitin belong to kingdom 

(ii) The National Botanical Research 
Institute is situated in 	 

(iii) Paleobotany deals with the study of 
	 records of plants and 
animals. 

(iv) 	  refers to a behaviour 
pattern of an individual in the 
population for the benefit of other 
members. 

(v) The basic unit of study in Numerical 
Taxonomy is 	 
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(b) Define the following terms : 	 1 x 5=5 

(i) Herbarium 

(ii) Type specimen 

(iii) Vestigial organ 

(iv) Peripatric speciation 

(v) Semantides 

2. (a) 'Industrial Melanism is an excellent model 

to demonstrate Natural Selection.' Briefly 

analyse and justify the above statement. 

(b) What is ring species ? Explain with suitable 

example. 
	 5 

3. (a) Discuss the importance of giving scientific 

names to organisms. List the rules of 

binomial nomenclature. 	 2+3 

(b) List the merits and demerits of Bentham 

and Hooker system of classification. 	 5 

4. (a) What is a karyotype ? Explain with any two 

examples how it is useful in biosystematics. 	5 

(b) Critically evaluate the Lamarckian concept 

of evolution. 	 5 
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5. (a) There is discontinuity in the geographical 
distribution of some species. Explain with 
suitable examples. 	 5 

(b) With the help of a suitable example explain 
how 'habitat preference of an organism 
promotes speciation.' 
	

5 

6. (a) What are the main evolutionary trends in 
human evolution and how have they been 
responsible for the success of Homo sapiens 
sapiens ? 

(b) State three characteristics that showed that 
Homo erectus could stand erect and three 
such characteristics that placed them closer 
to apes than humans. 

4 
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